ES0

Area de aterro: 0,182 m?

[ Area de cote: 0,270 m?

E49

Area de aterro: 0,575 m?

[ Area de cotte: 0,113 m?

E48

Area de aterro: 0

[ Area de cotte: 0,173 m?

E47

Area de aterro: 0,112 m?

[ Area de cote: 0,625 m?

=
<
<
%
- g S
o w i3 Q& w
ml_u m < 3 o
w gz 5 o
789G || 82006 | s8co0E 0 N - Lo
g ¢ . da 9 2 3
|| _zz0's || oosoe | oozoe 000 || esvoe [ obBez = 8 g 5 3
I 000G || 8290¢ | €69°0¢ w
i
8]
&
<
5]
2]
[ ~
=] o
B
< 0000 || 9€9°0¢ | ¥99'62 < o
TS [}
0000 || 8ZZ0¢ | 86L0¢ (o} o ' -
o < @) N
w e 180 || 99'0e | 9e9'0e 0 @ =z 9
£ o = o x
o & 000G || GFO08 | 26908 z ) x
IS (]
S e o = rd w
IS <L D Y ]
s 7 ” 9 O 3
5 sl g S - 26§
» » ) ° © 0057 |[ 0508 | €re62 i} o < &
00s'v- || evo'os | ovs'os ST w X 3 S8
8897~ |[ res0e | resoe o0 i m m n o9
<< 126%G- || ¥5562 | ¥8562 Zz -
zZ = <« Z3
(e 0] S r - M £ s
® O13rOYud|ONIUYAL % W« E 0000 || seroe | 18C0E Qg O m € 9 E
5135440 W) SVI00 o o Eo glel 2 o0 T oo
© o OL3r0dd|[ONTHYAL s - _._D._ < LI of
5135440 (W) SVIOO s % A T WX
g 2 O < = wWo
58  x <
o ® m [ (@]
- o o ; 7)) P4
w =
5 H el 2 4 &
o9 . . . g 5 <« =
T2 0057~ |[ 0€9°05 | ¥¢662 21| 2 5 <
€L s || 8190¢ | 81908 | Tveee |[ 6eroe | eeroe o|g o =
000G || g6v0E | 1e9oE D- z Mny >
€969 |[ 66562 | Z8c62 = I s ©
< o E g
® ® Z 5
e 7 O13rOdd|ONTHEAL « 5 gz
5135440 @) SVIOD s8¢ =g
% | € g 5SS §
|8 | g EX 3 8
o |F]|¢ g a & E
X | a £ & o =
wig
ooz 1 T T -
0000 |[ Gv90¢ | 989°0¢ —8E6e |8k BE T SeLBE | I &
o <
™M 0000 || 26906 | ¢/9'62 o als
O N » |8
w b S8
. . . >
00s'v- || oig'oe | eorios mm W w a
€G- |[ veroe | veroe m,ﬂ, N~ N <
e L tE 0000 || 82Z08 | 2z00E T
538 W 83 ] =
o ® (=2 ~ S o [0}
g9 0057~ |[ ¢es0e | 89e62 <% Ll x
- g8
@ O13rodd|ONIdgaL << N
S13S440] (W) SVIOD €12°9- || ove'6z | OvE6T e
o O
D- .N .N
00S7- || €66°0¢ | 95962
O13rOdd|ONTgYaL D- 82¢G- || 80r 08 | soroE b
3 5135440 W) SVI0D
O13r0dd [ONTHEAL
eeo's || sieoe | sieios 5135440 (W) SYI00
000G |[ sveoe | ZieoE =
— o
™ ™
N | YT 9on'le | oon'te
““““ . - - 000G |[ 889706 | LL07€
9695 || Soroe | soioe 0/1's || sev'os | szvos ﬁ
000G |[ 895706 | veroe 0005 | zrs0e T vecoc
0000 |[ G6v0¢ | €150¢ o
(0
N 0000 || 8e8'08 | 9vL0¢E
Te) : © : : et
E 000°0 81L.°0¢ 2s0°0¢ Tp) 0000 Z69°0¢ 06862 g
tE NN % 82
|l oos'y- || ooe'oe | vze‘oe S EE S
695 7- |[ vreoe | vreoe g< 8@ e £
B S cL
(<2 P o ®
o o O
m m m m o 00S'v- €0.'0¢ | sg9'0¢
o ® o ® o0 == — 7 7
s i e 6957 G908 | 1S9°0€
© ®© Croy T T
o gQ 005y €8G0E | €86'6C 38 0057~ || 2650¢ | 8¢56¢C
) << < <
O13r0ud|ONTaeaL — . . i i i
5135440 @) SvIioD ve9's leg'ee | Legee v55s- |[ vee6C | ves6e
« 013r0dd |ONTHEAL
° - 5 5135440 W) SVIOO
@ O13rodd [ONIHd3L @ o OL3rodd|ONTguaL
SL38440] Wy sviod S13S440] W) SVI0D
o -~ o
™ ™ ™
-~ o
™ ™
o
™
850's || vez'os | vez'os
000G || G6+0¢ | €5208 e8l's || ese'oe | ese‘os 66e5 |[ 050te | 0s0te
005 | oo 508 000G 159°0€ | v107LE
ozi's || ozz'0e | o0iz'0¢
“““““ 000G |[ vv90E | 6+Z0¢F
0000 |[ sve0e | 9eroe -—
0 WOU 565 ess5e T 50562 o 0000 108°0E | 0950¢
T . . : — Ul Oy
E - 0000 |[ v6L0c | 8vgoE L Zs
=) & 8
S8 o QLo
=8N tEE s
N < >
PR S5 g B
8% S 58
605V~ || @1c0E | Sheoe g9 g8 S8 | (M|
83 8% 0057~ || 0c508 | 1ecee 8| Q| 005y || 999'€ | 0IZ'08
ZZ2 005~ || esgoe | sezoe g9 << cers- |[ vveoe | wreos
A — © @©
D- 02L%- |[ ¢lS0E | ¢IG0E 28 €18%G- |[ S096c | S096¢ E-
o 151 s 8
“ O13r0ud|ONTaeaL 013r0dd |[ONTUEAL O13r0dd |ONTHEAL
S13S440| (W) SV10D S13S440] (W) sv10O S13S440| (W) svL0O
013r0dd [ONTHEAL
5135440 @) SV100




